normalized x?

1072
107

10

< X2/ndf>

Ratio

< Xx2/ndf>

Ratio

[[normalized x? probability ]

0.07

Entries
Mean

Entries
Mean
Std Dev

Entries
Mean

6 8 10 12 14 16 18 20

2
X
rgmm—mgrm. ETTOT_TUU0EVT
_orlgma\ 1000evt

——
—— D!
— 3 H cpe‘OK 100
s DOM it~ cpeOK_SORTRZZ 1000evt
s D! fit cpeOK_SORTRZ2_ TESTOUTLIER3 1000evt
2. . .
ER: SRTLE-PR B R SRR R ERRRI R
G- STRLTS SRR EPT EPEPPESPEEPE -PEPPEE B
1.4f--1-¢-
1.2 3 -
F
i
0.8t e
06:—- .- -: ------------------------------
3 ‘ﬂ
0.955—0
A 2r
2 18F-
< 1.6F-
Vo14f-
1.2F
1E-
0.8F-
0.6F
0.4F
0.2F
10F o G
1.05F - g
1 0.5
0.95F
05 P -2
10 10 10

-1
AR(track, jefl’[?



	Contents
	Page 1


